For the life of me, | don't remember

63.A Telling people what to do: The Imperative

Owanor

pammaTtuka

XoTb y6éu, 1 He NOMHIO  For the life of me, | don’t remember

Hatdma |1 |3apaBctByii, JIEH:, kak nena? Hi, Lyonya, how’s it going?

Jléus 2 | He cripammBaid. Don’t ask.

Hatdma |3 [Yto ¢ T066i1? YUTo ciyuniochk? What'’s wrong (with you)? What happened?

JIéus 4 |TloxamyiicTa, He TOBOpPH Tak rpoOMKo. [osoBa Please don’t talk so loud. My head really hurts.
5 | y'KacHO OOJIUT.

Hatama |6 |U3Buuu. A rae eI 0601 Buepa? ThI OMSITH OBLT B Sorry (forgive me). Where were you yesterday?
7 | TI? We’re you at Tl again?

Jéns 8 | Her, x0uemb Bepb, X0Uelllb He BePb, 5 He ObUT B | No, believe it or not  wasn’t at TL. I was at a
9 | TL 5 Obu1 Ha cBAABLOE. Mos ABOOpOIHAs cecTpa | wedding. My (female) cousin got married.
10 | BBIXOWJIA 3AMYK.

Hatama |11 | U 161, KOHEYHO, HAMAJICSL. And of course you got drunk.

Jléns 12 | 51 He BUHOBAT. Bce kpuuanm «mei K0 aHay «erd | It’s not my fault. (I am not guilty.) Everyone
13 | mo mHa». Kak ke st Mor He TUTh? was yelling ‘Chug! Chug!” How could I not

drink?

Harama |14 | A cKOJIBKO THI BBITHII? How much did you drink?

JIénn 15 | XoTh y0éid, s He noMHI0. Caémaii MHe, For the life of me, I don’t remember. Do me a
16 | moxkamyiicTa, ogo/KkéHme, 3aKkpoii okHd. MHe favor please, (and) close the window. I'm
17 | O4eHb XOJI0IHO. really cold.

Hatdma |18 | A mHe xopomd. 1 feel just fine.

JIénn 19 | O#1, ronosa 6onut. JAii MHe, mokanmyiicra, Oh, my head hurts. Please give me the aspirin.
20 | aCIHPHH.

CnoBapb

8 | xbuenib Bepb, XOUEIIb HE BEPh

believe it or not (Lit.: if you want, believe; if you want, don’t believe)

9 |cBanpba (Ha cBAnmKOE)

wedding

9 | mBotopomHas cecTpa
JIBOIOPOJTHBIN Opat

(female) cousin

(male) cousin

11 | HamMBAk+...cs // get drunk
~ 7 X
{Hanpii+ ...cs / HANW+...CS }
12 | BUHOBAT, -a, -bI guilty

12 | mé¥i(Te) mo aHa!

chug! (lit.: drink to the bottom! — Imperative of {mbii+ / nf(u}

15 | XxoTh yOE&ii(Te)

for the life of me (Lit.: even [if you] kill me)

15 | ménaii+ // c- komy omoinkénue

do someone a favor
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16 |3akpoii(Te)! close (Imperative)

3aKpbIBaii+ // {3aKkpoii+ / 3aKphI+}

19 | naii(te) ! give (Imperative of nate)
20 | acIMpUH Guess
63.A Telling People What To Do: The Imperative

We’ve seen many examples of the Imperative, right from the the very first day of the course. Some old favorites:
N3BunN(TE) He cnpamusaii! Ckaxwu(te)... 3npascTByii(Te)! He ye3xaii!

Let’s see how to form the Imperative. Basically, there are 2('2) endings, the choice of which depends on the final
consonant of the stem. The crucial question: Is the final stem consonant (sound) i?

e Verbs whose stem ends in n (or n + vowel) — Ilen, négn, nen!

If the final consonant of the Non-Past (Present) stem is i, that’s the Imperative. Add -Te (never stressed) for
Plural/Formal commands):

NON-PAST STEM IMPERATIVE
YHTA+ // TIPO- (npo)uunTaii(te)
-{A}ii+ verbs | gymaii+ / mo- (mo)mymaii(te)
JIOBEPSTii-+ JIOBEpsIii(Te)
-eii+ verbs MMEHi+ UMEH(Te)
Oouéii+ He Oouéii(Te)
61.A.1 Use the Left-Hand Stem for Double-Stem Verbs

For double-stem verbs we use the stem on the left, the same stem that is used for the Non-Past (Present).
This also applies for -{O}Ba+ verbs, which technically are double-stem verbs. The Non-Past stem ends in -{U}ii:

NON-PAST STEM IMPERATIVE
{-oi+/-bI+} {MO¥i+...cqa / MbI+...ca} // mo- | (mo)moiics; (mo)MoiTech
verbs {moit+"/ mé+} // c- (c)moii(te)
-{O}Ba+ verbs | Tammyii+ (Tanuesa-) // mo- (mo)ranmyii(re)
(-{U}ii+) o+ (MeBa+) spit o (Te)

It turns out that 3qpaBcTBYyii(Te) is actually a command from the verb 3apaBcTBOBa+, be well; thrive. So Russians
aren’t just saying Hello but rather Thrive!
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What about double-stem verbs like {mpii+ / mi+}? There’s no vowel in the Non-Past stem!!

It’s cluster-buster time, which gives you méii(te). So, whenever you walk into a bar, the 6apmen will say ITEHA!
And at parties we recommend you yell out (to others):

Nen no gHa! len po aHa! Chug! Chug!

Also, the verb pour is {npii+ / mi+}. Just remember Jleii, 1ému, aeii! The verb kill is {ybbii+" / y6u+}, from which
we get the expression xoTb y0éii for the life of me, literally, even (if you) kill [me].

NON-PAST STEM IMPERATIVE
i / {rbii+ / o} néii(re)
{-])I/‘ll;b;I/H} {mbit+ / i+ néii(te)
{yObii+ / you+} yoéii(Te)

% Form the Imperatives. Use the familiar form unless noted.

1. uwmraii+ (BBI)
5. cmoii+” (BbI) 6.

9. He xpacuéii+ blush

10. mokynaii+ (BbI)

2. aymaii+ 3.

{3aKpOii+/ 3aKphI+} 7.

e Stems in u{A} (spelled Vowel + A1)

MpU3HABAN+...CsI (BBI) 4.
{nbii+ / T} 8.

11. {MOit+...cs1/ MBI+...cs1} 12, {yOnit'+/ yOu+}

HE JXKAJIoBa+..Ccst

TaHIIeBA+ (BBI)

The above rule about Verbs in if also applies to stems that end in #i{A}, spelled Vowel + st (cTosi+ 6osi+...cs, etc.).
In this case, you simply remove the basic vowel {A} and reveal the hidden ii. In other words, if the final
consonant sound of the stem is i, that’s the Imperative form. (Now do you see why we taught you this basic

vowel stuff?)

NON-PAST STEM

IMPERATIVE

H{A} verbs

crosi+ (ctoii {A})
0osi+...cqa
cMest+...csl laugh
nas+ bark (dog)

ctoi(re) (also means ‘Stop!”)
00tics (00HTECH)
cméiics (cMENWTeCh)

He J1ai(Te)

% Form the Imperatives:

1. cros+ 2.

HE JIas+ 3.
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e Other Rules: Non WU-Verbs: U(TE)

Leaving aside stems whose final consonant is i, the Imperative is a Vowel ending: -r(Te) — sort of. It depends on
stress. If the stress is on the ending (or the final vowel of the stem), add stressed —n(te) (always the soft
indicating vowel, never bl).

* Verbs with shifting stress keep the stress on the ending.

NON-PAST STEM

IMPERATIVE

End-stressed — Imperative in -i(te)

TOBOpH-+
*cMoTpé+ // TI0-
Kpuua+ // 3a-
npuHec+
KUB+
*¥110MOT+
**ngk+" // uc-
Bpa+ // Ha-

BEpHY+

roBopu(Te)
(mo)cMoTpH(Te)
(3a)kpuun(Te)
pUHECH(Te)
KUBH(TE)
moMoru(Te)
(uc)mekun(te)
(ma)Bpu(Te)

BepHU(TE)

**Note that r (and k) do not mutate. See more below on consonant mutation.

Since this Imperative ending is a vowel ending, for Double-Stem verbs we use the stem to which vowel endings
are attached, i.e. the stem ending in a consonant (on the left):

NON-PAST STEM

IMPERATIVE

End-stressed — Imperative in -i(te)

{6ep+'/ Gpa+ }
{BO3BM+'/ B38+ }
{nayn+'/ Haya+}

Oepr(te)
BO3BMH(TE)
HavYHU(TE)

@ Form the Imperative from the following verbs:

TeXA+
X
4. chopocit+
YIBIOHY+. ..CS

X
10. momor+

2. BepHY+...cs (BBI)

5. TO3BOHHU+

8. {maun+'/Haud+} (BbI)
11. moBepHy+ (BBI)
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6.
9.
12.

pasGy i+
npoBEn+” (BbI)
CMOTp&+

{puM+"/ IpUHS +}
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o If the stress is ALWAYS on the stem add -b(TE)

NON-PAST STEM IMPERATIVE
Stem-stressed — Imperative in -b(Te)
BEpH+ BEph(TE)
BCTaH+ BCTAHB(TE)
né3+ climb né3n(Te)
MOCTaBH+ place CTaBB(TE)
riaga+ TIIA6(Te)
{csn+/ cén+} sit down csinp(Te)
{6yn+/ Obi+} Oyan(Te)
TOKUHY+ desert MTOKHHB(TE)
% Form the Imperative from the following verbs:
1. roTOBH+ 2. BCTaH+ 3. Opocu+ (BbI)
4. BcTpéTH+ 5. {mar+/nér+} (BBI) 6. TmocTaBu+ place
MO3HAKOMU+. ..CS 8. oTBéTH+ answer 9. {6yn+/ 6Bk} (BEI)

o Stem-stressed verbs that have > 1 consonant preceding the final vowel: Add -u(re)

If, after chopping off the vowel from a stem-stresed verb, you are faced with two consonants, add unstressed
u(Te) instead of —b(Te). It seems that a double consonant + b(Te) is just too much of a cluster.

NON-PAST STEM IMPERATIVE

Stem-stressed but with >1 consonant before final stem
— Imperative in -u(te)

MTOMHH+ MOMHH(TE)
KOHYH+ KOHUH(TE)
YUCTH+ quCTH(TE)
TIPUBEIK[HY |+ MIPUBBIKHU(TE)

Form the Imperative from the following verbs. Not all the verbs here behave the same. Any of
the types described above may appear here.

1. BcnOMHU+ remember; recall 2. nmymaii+ 3. {mbii+/ nﬁ+} (BBI)
4. He 00si+...cq 5. uucTtu+ (BBI) 6. wHe Oonéit+
7. TpUBBIK[HY]+ 8. Ilep)Kng 9. TaHueBa+ (BBI)
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e Consonant mutation in the Imperative

Even though the Imperative creates ¥+V truncation, only I"-conjugation -a+ verbs like nuca+, ckasa+ have
mutation. In other words, only verbs that have consonant mutation throughout the Non-Past also have mutation
in the Imperative. Second-conjugation -u+ and -e+ verbs only mutate in the 1sg (a-form), so they DON’T mutate

in the Imperative.

NON-PAST STEM

IMPERATIVE

-a+ verbs: Consonant mutation in Imperative

X
nuca+ // Ha-
CcKaza+
X -
HCKa+ // 11o- look for
X
qecat brush

(Ha)num(Te)
CKaxu(Te)
(mo)ummw(Te)
yeru(Te)

-u+ and -e+ verbs: NO

consonant mutation in

Imperative

KT+
CIIpocCH+
MI06H+
rsac+ glance

X
TepIe+

kyn#(Te) (although kymo)
copocu(te) (although cripoury)
mo6u(Te) (although ro6iio)
risaai(te) (although risoky)

tepmu(te) (although Tepruio)

Here’s a really nice example: the stem of cry is midka+. Not only do we get mutation (because it’s an -a+ verb),
but since it’s a stem-stressed verb, the Imperative ending is -b(Te): mIA4Yb(Te).

@ Form the Imperative from the following verbs. Again, this is a mixed group.

1. cBsa3a+ connect 2. Kymi+ 3. Hamuca+ (BbI)
4. wme cepup+ 5. mryTi+ (BBI) 6. 1UTAKa+

7. mompoci 8. cka3a+ (BbI) 9. wmasza+ spread
e Exceptions in the Imperative

The three double-stem verbs that have -aBaii+ in the Past/Infinitive stem use that stem (on the right), and not the
Non-Past stem like every other double-stem verb) to form the Imperative:

PAST/INFINITIVE STEM IMPERATIVE
-aBaii+ verbs

{BcTaii+" / BcTaBaii+} BCTaBaii(Te)

{naii+" / naBaii+} JaBan(te)

{y3Haii+" / y3HaBaii+} y3HaBaii(Te)
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Also: natp > maii(re)

IRREGULAR VERBS IMPERATIVE
JaTh / OTHATH / IPOJATH naii(re) / ornaii(te) / mpomaii(re)

The irregular verbs xoré+ and mor+" don’t normally have an Imperative form, and neither does Bie+.
e Aspect in the Imperative

As the general rule, use Perfective for positive commands, Imperfective for negative commands.

+ PERFECTIVE — IMPERFECTIVE
OTtkpoii(Te) OKHO. He oTkprIBait OKHO.
Jlaii(te) MmHe 1EHBIH. He naBaii(te) emy n¢HBTH.
Kyn# sty knury. He moxynaii aTy KHUTY.
[Ipumi acimprH. He mpuanMait acnupus.
Bossmi géubru. He Gepnt nénpru.

Of course if the verb does not have a Perfective (many State/Activity verbs) the Imperfective is used for positive
commands: 3anumaiics! Study!

There are a number (a rather large number) of exceptions to the +Perfective / —Imperfective rule. We’ll discuss
them as they come up throughout the rest of the course.

g@ Translate:

Bring a cake. Don’t bring anything.

Give her the money. Don’t give Sasha the money.
Close the window. Don’t close the door.

Don’t be afaid.

N D W =
® N B

Sara, be careful!
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Summary of the Imperative

63-1 ypok

STEM IMPERATIVE
1) Stems ending in -it (or it+Vowel): | uutdii+ quTai(Te)
keep -Hi(Te) TaHIy i+ TaHIy#(Te)
cMesi+...co cMméitcs
CTOST+ cTo(Te)
2) End-stressed stems: add -i(te) TOBOpPH+ roBopu(Te)
ToMor+" TIOMOTH(Te)
BEPHY+ BepHH(Te)
* Mutation only in -a+ verbs nmca+ nuIA(Te)
KyTIH+ Kymu(Te)
3) Stem-stressed stems: add -b(Te); BEpU+ BEPH(TE)
Consonant cluster: add -u(te) OMHU+ nOMHU(TE)
+ PERFECTIVE — IMPERFECTIVE

OTkpoii(Te) OKHO.

Jlait eMy KITIOUH.

He oTkpbIBA#i OKHO.

He naBaii eit 1éHBIA.

(Another) Summary of the Imperative — Endings and Examples (V=Vowel, C=Consonant)

Vii/Te

Jymait/Te
cToit/Te

n/te

TIeKH/Te
TOBOPH/TE

" b/TE

Oynb/Te
BCTAHb/TE

"CCu/te

IMIOMHU/TE
HUCYE3HU/TE
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g YnpaxHénue 1 Tell the people to do the opposite of what they want:

1. Mama He X04eT MBITh Tocyy dishes.

2. Bépa He xOueT 3aHUMATHCA.

3. MBbI XOTAM OTKPBITH OKHO.

4. Burs x64er cirymarh rpOMKYIO MY3bIKY.

5.  Mima He XO4eT MUTh BOJIKY.

6. Pyira He XOUeT BCTaBATE.

7. Jléna He XOYET MOKYNATH HOX.

8. Camra He XOUeT MUCATH COYNHEHHE.

9. bOps He x0ueT nmomorats Jlame.
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10. JXaHHa He XOYeT 1aBATH €My aCHHPHH.

@/ YnpaxHéHune 2 Make up 2 situations similar to the preceding exercise. After He xoTe+ only an
Imperfective Infinitive is found.

gj YnpaxHéHune 3  Translate the first part and finish the sentence as you wish:

1. Believe it or not...

2. I got drunk at the party and...
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